There is = Hay

There is not = No hay —

Singular
Is there...? =Hay....?
There are = Hay

Plural
There are not = No hay

Are there......? = Hay.....”?

a lion in the circus?

There are there is are there is there

5 cows in the street.

There are there is are there is there

a rabbit in the garden.

There are not there is not are there is there

people in the park.

There are not there is not are there is there

a mouse in the kitchen.

There are not there is not are there is there

a car in the parking lot.

There are not there is not are there is there

foxes in the jungle.

There are not there is not are there is there



